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2. R+ rls lndrxr* t t ffi dqyri +ym ffRc r

o. €{nrr-q:rtrTyrt or}ffqrfififfissi rrm+€frs, efr-{
qS vflt 6r qrq{ t'si t *{r qIBq r

(a) A potential migrant is faced with a probability of
getting absorbed in the urban formal sector equal

to 0.5 while the probability of being in the urban

informal sector is 0.5. If the agricultural wage is

Rs. 500, urban formal wage is Rs. 1200 and the

urban informal wage is Rs. 700, will he move to

the urban sector? Explain using the Harris-Todaro

model of rural urban migration. (9)

(b) Explain how in the Harris-Todaro model a policy
of wage subsidy to the formal sectot may still
require migration restrictions to check the size of
the informal sector. Are there policies that work
without migration restrictions? (4+5)

Discuss and explain why despite Marshallian
inefficiency, sharecropping contracts enjoy enduring

popularity across countries in the rural economy

worldwide. ( 13)
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6. tT frtro. frco mr ssftr q,,f+ soft dlfrstu++q*
{'er qRFr *t r 6 qrErr sm dqF Tdtr+ + sq+rr 6}
frffid q.li t tt mr qq-fi 6} (6-dr *r srq wr ffi
S fr 'R{rfr rrccr{ s* c-trs rc+ * fts rfr.{ r.e ffi sc+fi
A (a,'fr *? I 1rs+s;

(+,) ffio t{il I +qil ordqqr dh +wr frw'-a-driir

fr vqrqu] rr< qql dftsr , (.)

(tr) sm Et qrt t fr,u rE qq ffi{d * fr q-{ crqq
s+q**qs) + qror Srrif + qrqd Eo v+vr* * *
*r crdn wr* 6 q-iqR{fr t q.rior *? fr6m ffR
+ ftq srEi.rc{q6qR + fffrrrd !<il q- yq.nr { qql

frftqr sqgffi yqnrq Afrsr (ro)

8. ffikd++tufi*s{qtu€MfiiRss:

(q) us €srErdr ERr ffi {crfttst' 6r {sr*-{ Etrrcqr-d

Ero frs {s qs'6-{ + sgt srEfi dar i, d zq
qcrEtsr. nR sr+ + frs v6. flq<ur ffi ($-{r *t
qrqr dRqr

(re) u{ar*wS + ft-6m n-qak * fts ffi *r
ftEn rtrsfr * gffifl-o {d *,r rfsm'r desr
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3. (6) ffi{ ?lll I u{tqr gk q( d srrlrdR 3;q affiq

r€+ + 6nui} qr q-d dfrqr (ts)

(q) tqr ,,qk {Hrfrar if{qr vrrnrfr 6 srdcfuR {, ffi
di *cB *$<crdr-fiil 6t€qc t,,ASdqrE-{r

dir qq t oq ** tr c6'Ecfr d tn'c t Eq s6'

t{.€ t qwqil y1,6 qti d ff fflll qqr+<r O.s

ffiilrra^p=%t,Affifrerfl{c@IeI
*r (s)

wa:riqEr a.1lu wr I qk B-+ ffid ?il t zur ffic
t s6'r0rt * qq i el ?sT qrdl t? qmt ft qc aq
gotff xt I d qrfr l, t] sm'qcfu( et-6tu q.o, Eqre

eitRq +l q<r r+<r tr (r+e )

i
(t,,) 'vlR.erfr atinr t ffsctrflg ryq {flr,r ilfitc-dIt}

{ rk cq urfr l, q"c { 5q nt+ *, *qr' vst

dfi tsr (to)

(r) wr kdarrff* **+ ilrcRs mcdr++Ac*
I

vd r qrqilg tqr q,,A l, frq6l $rilT<rm frur6]
rn] r rqr cqdr ir i (e)

(o) Dlscuss the reasons that hal'e kept the population

growth rate pcrsistent,)' lrrgh in d':veloping

countr i,,.. r l"\

(b) In the absence of insurance and social sscuritrr

structures, let the probability of having a given

child grow up to look after parents be p. A couple

finds 0.9 as the acceptable threshold probability

of receiving suPport from at least one child. What

is the optimum number of offspring if p = y.t

(3)

What are interlinked contracts and why are they

observed as a mode of credit tr&nsactions in developing

countries? Explain how an interlinked contract when

loan repayment is done in labour may create an

efficient surplus. (9+9)

(a) "Inequalities in the asset market magnify further

into labour market inequalities, at least among the

poor." Discuss. (l0)

(b) Explain how casual labour markets in rural areas

create nutritional externalities that all the

stakeholders end up paying fot. (8)

6 0s6 3

44

5
5

P.T.O,



6096 4

6 Describe using game theoretic models, how neither
state governance nor the market may be fully
successful in regulating the use of common property
resources. How far do you think self_governing
institutions can be useful for sustaining them?

( l s+3)

(a) Discuss the problems of plan implementation and
plan failures in developing countries. (g)

(b) How far do you agree that the setbacks to market
reforms in many transition economies are
attributable to the absence of some institutional
preconditions and market practices,l Discuss in
the light of policy prescriptions of Washington
Consensus for development policy. Give suitable
examples. (t0)

Write short noles on any two from the following:

(a) When the lender's valuation ofa collateral exceeds
that of the borrower by a large margin, credit can
become a veil for acquiring the collateral. Explain.

(b) Evaluate comparative merits of democratic and
autocratic regimes for the growth performance of
economies.
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(c) Explain lender's risk hyporhesfs.

(d) Discuss the comparative impact of increasing
female wages vs increasing rental incomes on
fert ility choices. (9.2 = I 8)

(o,) so' vtttkd xsrft * {rut sit'rsrRo, *{ I {qftd i}
6 qqr+ir o.o * q{st t, vsfr nut rffio ea

i ii ci +n+<r o.s tr uR gE rclt soo wt i,
w6t *cFqrRo' ffi(t l2o0 \c+ t ft n6t fi*ErRo
rolt zoo wi t, A rmr qE rrut ** t urcfi?
vrffq nat rcm + *R€-M {so ql gc+.r q'r*
nqeE+r (c)

(re) {TflEt fr iR{-m mea + d,rsrR6 df* * qw$
ffiffi$ffR+fts sqlc-qrRm *** onondtfiq
q.A + Rs ilrfr fr rsm rRsri d ilrs{{6-dr *
qc,-fr *r flr tff {Rd i * csm nffi} + frqr crc
o.dft l? (a+s)

s-qt dtrc *r {TflE+ fr cr{Rr{ ir€vr;{ir + qRrF,

Efrcr ql t urffur Bt&s{sr n iqiaiBlr ilnslm d il i
en& A+,&{dr eit- ft-fr *r (lg)
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